
Multiply and Divide by Powers of Ten (A)Find each product or quotient.
3,994 × 10² = 7,8233 : 10³ =
5,485 : 10³ = 9,3 : 10³ =
9,2 : 10⁰ = 9,404 × 10² =
9,545 × 10⁻² = 8,68 × 10⁰ =
4,7794 × 10³ = 5,7488 : 10⁻³ =
9,48 × 10⁻¹ = 5,673 × 10⁻³ =
2,12 : 10⁰ = 9,1601 × 10² =
0,11 × 10³ = 0,6703 : 10⁻² =
8,789 × 10¹ = 2,4852 × 10⁰ =
5,1 : 10⁻¹ = 4,5 × 10³ =
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Multiply and Divide by Powers of Ten (A) AnswersFind each product or quotient.
3,994 × 10² = 399,4 7,8233 : 10³ = 0,0078233
5,485 : 10³ = 0,005485 9,3 : 10³ = 0,0093
9,2 : 10⁰ = 9,2 9,404 × 10² = 940,4
9,545 × 10⁻² = 0,09545 8,68 × 10⁰ = 8,68
4,7794 × 10³ = 4.779,4 5,7488 : 10⁻³ = 5.748,8
9,48 × 10⁻¹ = 0,948 5,673 × 10⁻³ = 0,005673
2,12 : 10⁰ = 2,12 9,1601 × 10² = 916,01
0,11 × 10³ = 110 0,6703 : 10⁻² = 67,03
8,789 × 10¹ = 87,89 2,4852 × 10⁰ = 2,4852
5,1 : 10⁻¹ = 51 4,5 × 10³ = 4.500
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